Yk 29F1 2AEE D BHhEFSE=FRABREEHIN—EF
1 FECHFQITES
RIER B w5 ] 2% |
Bt =S |HEES o =& AL =
RES |HESES| L B TR o re|ge|ze| F
Ri=plas pig | 4052 | 2N | 4 [32999 4 | x| k9| He | 27
669 64.600
RIS E 728 | 3062 | 2N | 3 |21 4 | wx | 9| Ho | 50
687 55,100

é??@%@@ﬁt?ﬁﬁt,$ﬁ%$k€§&n4@ﬁuF®%ﬁ&Um¥W6&%MF®¥ME§@E$§$QT

2 — 2B
RIEX 518 5| @20 | B
it BEs | pEEs sy | RS kL e
= = | mEnd = |z AE| F | Eme ;
B sem | 5382 | 2N | 3 | | @ | x| 5 |sa3] 5
34.4 15,400
30K 11,900~
et oStz | 9452 4 m | vzt | Fgy|s49]| 8
465 £3.300
30K 15,700~
=0 1121%| 132 1 = |t | Fg|ss2| 9
51 1 30,800
wrmomm | 17| 122 | PN | 4 |21 m |k | x| se2 | 11
612 43,000
3DK-B 31,000~
LAY At | 3022 3 5 |2t | xg| H3 | 14 |TLR—5—5
or4 62,500
SDK 56,200~
LAY Bi# | 5062 5 5 x| g | Ho |22 |[TLR—H5—5
514 51,500
SDK 29,500~
LAY EiE | 5062 5 5 |23 | T |H12] 20 |TLAR—5—5
569 57,900
SDK 53,300~
RISty 6t | 1042 1 5 |x| T | Ho | 47
5r2 45,900
30K 57300~
RISty otz | 3022 3 5 |t | R |H11| 54
06.2 53,600
SV ASIAW D NI
RIEY B 5| @t | B
it BES | gEEs Ry | R kL e
= = | @msm % AE| F |2 ;
Rt e | 6048 | o~ | 6 [F09| 5 | wa| T |H12| 31 |TLA—5-5
569 57,900

XBBOERZWICIENC, 6 ORMULOESED, BFDEEN'6 OBMMULDBETHDIIT, BRATRERIE
EDRRIRRETHDHL (BEEBICRNTERBNEDNMUERTDIIABAT) NEPHATETET,

OBENTDIEHE) , MFRES), [BEESI) ZHASBICEKA LTS,
OHRNICRNS VI EEHFE A,




